     Логарифмы,
 логарифмические уравнения,
 системы уравнений.
 Вариант 1

1. Вычислить:
 а) [image: image2.png]log;45 —log; 5 + 9'°8=3;




 б) [image: image4.png]log, 56— log, 7 + 16'°€23,



   
2. Решить уравнения:
 а) [image: image6.png]log,*x



 [image: image8.png]—2logzx



;

 б)   [image: image10.png]lg(x +1,5)




;

 в)   [image: image12.png]log,(3x—5) —log,(9—2x)=1



;

 г)   4[image: image14.png]—lg’

2.

X



 [image: image16.png]=3lgx



;
 д)   [image: image18.png]~ 10805 (2% +3) +logo s (2x = 3) = 0;




 е)    [image: image20.png]lg10x-1g 0,1x =3.




3.    Решить систему уравнений:

  а)    [image: image22.png]§

ogz(x—
P





  б)[image: image24.png]log,(x +y) +2log,(x —y) = 3
[ e




Логарифмы,

логарифмические уравнения,

 системы уравнений.
      Вариант 2

1. Вычислить:
 а) [image: image26.png]logs7 5 — logs 3 + 25'8s2;




 б) [image: image28.png]12300 — 1g3 +100'°.



   
2. Решить уравнения:
 а) [image: image30.png]log,*x



 [image: image32.png]—10log;x +21=10



;

 б)   [image: image34.png]lg(x? —2) = —1gi



;

 в)   [image: image36.png]log,(x +1) +log,(x +1)* =3



;

 г)   [image: image38.png]1g?x—5



 [image: image40.png]41g>



;
 д)   [image: image42.png]logos -+ 4logos Vx =




 е)    [image: image44.png]lg100x-1g0,01x





3.    Решить систему уравнений:

  а)    [image: image46.png]{lngﬁ(X+y =2
3x.7y =21




  б)[image: image48.png]log,(x +y) +2log,(x —y) = 5
(B e




Ответы:
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	[image: image49.png]27
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)[image: image55.png];(3;1)
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